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Eighth Semester B.E. Degree Examination, June/July 2019
Big Data Analytics

Time: 3 hrs. Max. Marks:
Note: Answer any FIVE full questions, choosing ONE full question from e odule. ‘.

2 Module-1

E 1 a. How does the Hadoop MapReduce Data flow work for a word cowr ive an

= example. R Marks)

2 b. Briefly explain HDFS Name Node Federation, NFS GatewayfSnapshot eckpoint and

% Backups. (08 Marks)
52 OR
EE 2 a. What do you understand by HDFS'! Explain its component a neat diagram. (10 Marks)
= b. Bring out the concepts of HDFS block replication, wi (06 Marks)
t 4 Module-2
27, 3 a Explain Apache Squoop Import and Export metho IAgrams. (10 Marks)
S E b. Explain with a neat diagram, the Apache Ol ladoop architecture.
E ‘E {06 Marks)
¥ £
= % 4 a.  How do you run Map Reduce and erface (MPI) on YARN architecture?
g F Discuss. (10 Marks)
E - b. What do you understand by YA (06 Marks)
gh =
2
E%’ 5 a  Write any four Business ) ation for various sectors. (08 Marks)
=5 b. Explain the star schema dgs Data Warehousing with an example. (06 Marks)
E £ ¢. What is Confusion {02 Marks)
22
§ ) OR
@ = 6 a ith a neat diagram. (08 Marks)
%E b. he term Data Visualization? How is it important in Big data
= (05 Marks)
§§ c. a Mining and Data Warehousing. (03 Marks)
# o
5= Module-4
Ez 7 a ariable? Describe three criteria for choosing a splitting variable.
= > (04 Marks)
Slae of the advantages and disadvantages of Regression Model. (04 Marks)
B e cision tree for the following data set.
3 Job | House | Credit | L.oan Approved
£ Young | False | No | Fair No
g ’ Young | False | No | Good No
E Young | True | No | Good Yes

Young | True | Yes | Fair Yes
Young | False | No | Fair No J
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| _Age | Job | House Credit | Loan Approved
| Middle | False | No | Fair No

- Middle | False | No | Good No
Middle | True | Yes | Good Yes
Middle | False | Yes | Excellent Yes

' Middle | False | Yes | Excellent Yes

Old | False | Yes | Excellent Yes

Old | False | Yes | Good Yes

L Old ' True | No | Good Yes

Old True | No | Excellent Yes
i Old J_Fal:-;-.-: No | Fair No

Go green

Then solve the following problem using the model:
| Age | Job | House | Credit | Loan Approved
Young | False | False | Good | T

(08 Marks)

OR
8 a Explain the design principles ol an Artificial Neural
b.  How does the Apriori Algorithm work? Apply the same
Tip | List of ltem-1Ds
13“; h.i}lﬁ

Toma | 12, 1y

(08 Marks)
ving example.

THHI I.:. I‘-.
‘II-IHII I.I. ]i:.-. Ll- :
'I Sl I|‘ !_‘i

Toue | 12, 13
| THIEk El iy I_i
-[mm ||.1|!.|.h I:'*

len I, L, 1
Assume the support count

(08 Marks)

{05 Marks)
108 Marks)

in its model.

h-. What 15 a Support "Explain its model.

¢.  Mention the 3-5 25 of Text Mining. (03 Marks)
OR
vTerent types of web mining. (06 Marks)

s for the Nodes for the tollowing network shown in Fig.Q10(b).
nked node. Solve the same with eight iterations.

A
D )¢
Fig. Q10(b) (10 Marks)
& ¥ B W K
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